12@0684 (K12a0684)

Linearized knot diagam

9\/6\1\ 3 7 11 12 10 8 2 1 6 5 4 9
12

o
\ 4\/ Solving Sequence

2857—>3>1—>9—>6->10>5->11>12->4»C3,¢C11
Ccr C2 C1 C Ce Co Cs C1 C12 Cq

A knot diagra

Ideals for irreducible componentfbf Xpar

I = (" +uf 4+ 3u? 1)

* 1 irreducible components of dim¢ = 0, with total 67 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (ub" +u® 4 ... + 3u? + 1)

(i) Arc colorings

w- (1)

ag —
a7 =
az =

ay; =

—ud —ub —ut 41 >
2

(
(
(
(
ag = (uw —2u8 — 3u® — 2u* —u
(
(
(
(
(

u + 3ul? + 6ul0 + 7ud + 6ub + 4ut + 202 + 1
U14+2U12+3U10+2U8 —’U,Q

u? 4+ 5u 4 4 3u? 41

U6 4 42t e — oyt 2

w4 Tud0 4 4w 1

u38 4 6uB6 4 .o 4 20t — 2
ul® + 20 + 30 + 207 —u

w® + 3uld + 6ult + Tu® + 6u” + du® 4 2u + u
—ubt —9uP? - 4 + 1

aq =

—u® — 10u”* + - -+ — 34u® — 10u*
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u% — 4u5* + ... — 16u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq w + 23090+ —6u—1
ca, ¢7 u w3 1
C3,C4,C11 ST bl o 2u 1
Cs5, C9, C10 w —3u .+ 11u— 16
cg, C12 u®T —5u% ... — 320+ 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce YO+ 43y5C .. — 14y — 1
C2,C7 Y 423y + .. 6y — 1
C3,C4,C11 y67—53y66+--~—6y—1
¢s5, €9, C10 Y57 +63y%¢ + ... — 1383y — 256
cs, C12 y®7 4 35956 ... — 12512y — 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.803360 + 0.6384921

2.78379 +9.200451

—4.00000 — 5.043051

= —0.803360 — 0.6384921

2.78379 — 9.200451

—4.00000 + 5.043051

= 0.800124 + 0.6470681 7.09459 — 4.726981 0.+ 2.487141
= 0.800124 — 0.6470681 7.09459 + 4.726981 0. —2.487141
= —0.794421 + 0.6571991 3.54889 4 0.199671 0

= —0.794421 — 0.6571991 3.54889 — 0.199671 0

= —0.729773 4 0.6365281

0.83498 + 2.077001

—1.30731 — 4.650401

—0.729773 — 0.6365281

0.83498 — 2.077001

—1.30731 + 4.650401

0.701441 + 0.7643681

0.332471 — 0.1379351

—4.00000 + 0.1

0.701441 — 0.7643681

0.332471 + 0.1379351

—4.00000 + 0.1

= 0.751806 + 0.5999391

—4.30064 — 4.224281

—7.11593 + 3.829631

0.751806 — 0.5999391

—4.30064 + 4.224281

—7.11593 — 3.829631

0.022057 + 1.0532901

—4.58704 + 1.512181

—9.45944 — 4.552611

= 0.022057 — 1.0532901

—4.58704 — 1.512181

—9.45944 4 4.552611

= 0.096493 + 1.0571001 —2.57943 — 0.082811 | —8.50549 4+ 0.1
= 0.096493 — 1.0571001 —2.57943 4+ 0.082811 | —8.50549 4 0.1
= —0.669102 + 0.8449521 3.28932 — 2.582751 0
= —0.669102 — 0.8449521 3.28932 + 2.582751 0
= 0.529127 + 0.9392401 —0.06741 + 5.986271 0
= 0.529127 — 0.9392401 —0.06741 — 5.986271 0

= 0.647786 + 0.6556511

0.241433 + 0.7484311

—4.13794 — 3.908031

0.647786 — 0.6556511

0.241433 — 0.7484311

—4.13794 + 3.908031

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= —0.092376 + 1.0746701 0.91363 — 4.295741 0
= —0.092376 — 1.0746701 0.91363 + 4.295741 0
= —0.028914 + 1.0862301 —9.95694 — 3.354331 | —14.2561 4+ 0.1

= —0.028914 — 1.0862301 —9.95694 + 3.354331 | —14.2561 4+ 0.1

= 0.087961 + 1.0860101 —3.41796 + 8.656891 0
= 0.087961 — 1.0860101 —3.41796 — 8.656891 0
= —0.558836 + 0.9722821 3.64416 — 1.884151 0
= —0.558836 — 0.9722821 3.64416 4 1.884151 0




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
= 0.567085 4+ 0.9948391 —0.56916 — 2.295841 0
= 0.567085 — 0.9948391 —0.56916 + 2.295841 0
= 0.672545 + 0.9277351 —0.16758 + 5.427391 0
= 0.672545 — 0.9277351 —0.16758 — 5.427391 0
= —0.762268 + 0.8577261 6.75974 4 1.698591 0
= —0.762268 — 0.8577261 6.75974 — 1.698591 0
= 0.760734 4 0.8672701 10.68380 + 2.868361 0
= 0.760734 — 0.8672701 10.68380 — 2.868361 0
= —0.757930 + 0.8762281 6.70343 — 7.431341 0
= —0.757930 — 0.8762281 6.70343 4 7.431341 0

—0.650192 4 0.5249411

—4.92057 — 2.058891

—8.44124 + 3.451681

= —0.650192 — 0.5249411

—4.92057 + 2.058891

—8.44124 — 3.451681

—0.271313 4 0.7699151

—4.53163 — 2.072051

—11.22172 4- 5.135851

—0.271313 — 0.7699151

—4.53163 + 2.072051

—11.22172 — 5.135851

= 0.649976 + 0.9943121 —0.77232 4 4.371261 0
= 0.649976 — 0.9943121 —0.77232 — 4.371261 0
= —0.631035 + 1.0158601 —6.25413 — 2.964001 0
= —0.631035 — 1.0158601 —6.25413 + 2.964001 0
= —0.671448 + 1.0101001 —0.27092 — 7.451991 0
= —0.671448 — 1.0101001 —0.27092 + 7.451991 0
= 0.669526 + 1.0273201 —5.55831 + 9.640001 0
= 0.669526 — 1.0273201 —5.55831 — 9.640001 0
= —0.701809 + 1.0196701 2.45618 — 5.845171 0
= —0.701809 — 1.0196701 2.45618 4 5.845171 0
= 0.701023 + 1.0260001 5.95293 + 10.384201 0
= 0.701023 — 1.0260001 5.95293 — 10.384201 0
= —0.699473 + 1.0306201 1.6032 — 14.85991 0
= —0.699473 — 1.0306201 1.6032 + 14.85991 0

0.634928 + 0.3245181

1.12766 + 6.716601

—2.59886 — 5.834571

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

0.634928 — 0.3245181

1.12766 — 6.716601

—2.59886 + 5.834571




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.616892 4 0.2991521

5.31573 — 2.359891

1.86076 + 3.062931

u = —0.616892 — 0.2991521

5.31573 + 2.359891

1.86076 — 3.062931

0.597047 + 0.2662951

1.62809 — 2.007711

—1.45361 + 0.465581

0.597047 — 0.2662951

1.62809 + 2.007711

—1.45361 — 0.465581

u =

0.255920 + 0.4127451

—0.118014 + 0.8192851

—3.06015 — 8.289891

0.255920 — 0.4127451

—0.118014 — 0.8192851

—3.06015 + 8.289891

u = —0.412874

—2.43012

—1.69860




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce uS" +23u%0 .. —6u—1
c2,C7 w4+ w30 41

C3,C4,C11 uST w4 2u41

cs5, €9, C10 w =308 . 411w — 16
cs, C12 uST — 5uf - — 32u + 16




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cq YO +43y%0 . — 14y — 1
Ca, 07 Yo  +23y%0 + ... — 6y — 1
€3,C4,C11 yOT — 53y ... —6y — 1
¢s5, Cg, C10 y%7 4+ 63y5¢ + ... — 1383y — 256
Cs, C12 Y%7 4+ 35y56 + ... — 12512y — 256




